€0 . MPPAUMOHA/NBHWE @YHKLAR

TABJHIA 26
HHTECPAJIBI BHIA
J‘ *t" dy . n=0,1,2 ...,
Vet Fox+o)= m=1, 3 5, ...

dx i
26.1, = 1n 2x+p -2 14 x2 .
jlfx’—l—px-i—q | E +px--g |

L infax 1612V @ VTR
V a

X 1 )
£6.2, e Iri [2ax 4 b apu a>0, b*=4ac;
J]fax”—}—bx—}—c V a Pax b1 P
e l_ aresin Qﬂ—}i
— b*—dac

26.3 f dx dax42b
o ‘V-(ax”—}‘bx—i—m (4aa——b2 VaxFFoitc
26.4. —h—__.
j V (@t oxtop
o dax+-2h 1 1 8a
3(dac—b%) V ax Lbx ¢ ( Vax*Foxto 4afc—?)'
26.5 dx dox+H2b
- V ‘(ax2+bx+c) (m 2) (dac—b2) )" (av2+bx+r)’" 2T
, 4(m—3)u " dx
To—ae—F) | Ve =9
xdx
26.8, e —
jVax2+bv+c
=Yadibife b [ e 352
a 2a., Vux‘-{— bx+-¢
26.7 x dx — 2bx-4c
o V(ax2+bx+c)’ (dac—8%) ¥V ax* +bx4-¢
26.8 xdx 1

jV(ax’—}-bx—}-cT”‘:*(m 2aV{at+bxte)n-2

_*‘j e P (on 26.5),
YV (ax® 4obx +c)?

61

rasmuna 26

mpu a>0, b* £ dac;

apu a<0, & 4dac

26.9.'&5 LA 20’10.8" Var L bxrte+
Vad 4 bxte 3p*=—4ac g . dx (cM. 26.2).
8a? ]/m
26.10. Py _ ot 10abu 156" —8ae o
S Vactbite 54 — 1260 g .
TT16d® ) Ve Fbxte
"dx 1 ¥ dx
~¢ \ Vo 5V@Eﬁzﬁﬁ

ax _
26.12. S T e

Faxt L bx +:
k " ( | bx -2+ 2 l/c Vad +bxte
— 11
\ Vc npn ¢>0, b® # dag
{ l bx+ upn ¢>0; b%=4at
x
by 9% .
b _taresin — = T npn ¢<0, b*>4ao:
l V —¢ x Vbi—dac

dx ! +
26.13. S V—(m (m—2ye V(ax Joxt-o)™

dx b S dx
+?j1V(ax*+bx+c)m‘2 2 V (aw* +bx+1c)™

(cM. 26.5).
dx -
26.14. sz VeI
Vo] be o b g dx (cM. 26.12).
= ax Vaxif-bx+-o
dx == —— l s m=—2
26,15, W (n—1) cx 1 V(axz+bx+0)
2n4m—4)b. __dx_______q.
T 2{n-1¢ 2V (x4 bx4-0)"
(ntm--3)afl dx (n==2),

—

G=Ts )oY @t



